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1. S(−3
2 , 4), y = −5

2x + 1
4

2. S = ab sin α, a = 10 + b, b2 + 10b − 96 = 0 a = 16, b = 6

3. (x − 1)2 + (y + 2)2 = 2 S = 2π

4. x = 8

5. Df = (−1, 1)

6. N(0, 2) , M(−1
2 , 0)

7. a = 5, qquadf(x) = 5(x − 1)2 − 2 = 5x2 − 10x + 3

8. Dvakrat zaporedoma naredimo Hornerjev algoritem in dobimo: 4a−
2b − 12 = 0 , −4a + b + 12 = 0 re²itev: a = 3, b = 0,
f(x) = x3 + 3x2 − 4. Tretja ni£la je x = 1.

9. ~a ·~b = |~a||~b| cos α (1, k) · (k, 1 =) =
√

1 + k2
√

k2 + 1 cos 60o

2k = (1+k2)1
2 k2 − 4k +1 = 0 k1 = 2+

√
3, k2 = 2−

√
3
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10. S = 1
3

11. y′ = ex(x2 + 2x − 3) E1(−3, 6e−3), E2(1,−2e)

12. 1
15
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